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1. In ‘the areng covered under {lye
Panchayat {Extensfon o thi
Scheduled ‘Areas) Act, 19596, what

is the role/power of Gram Sabha?

¥ Gram Sabha has the power to

srevent alienation of land in
the Setiedizled Areas.
ownership ef minor forest
produce,

3. Recommenditiosyr  of Grarm.

Sabha is required for granting
prospecting licefice ar mining
lease for any mineral in the
Scheduled Areas,

Which of the - statements  given

above isfare correct?

fai 1 only

(b} 1 and 2 enly

'fr’-‘} 2 and '3 only

{d} 1,2 and 3

2. Io the Parligment of Indir, the

purpuse of an adjourmivient. metion

s

fa) e allow a discussion on g
definite matter of urgent pubiic
impeortinice

5} to let opposiHon members
collect information from the
‘miniaters

fe)  to allow a teduction of spedifie
amount in: demand for grant

fd} to postpane the proceedings to
check  the inappropriate  or
violent behaviour on the part of
some members

3. How doss National '_Ein_diifersity

Autherity {NBA) help in protecting
the Indian agricuiture? '
L. NBA checks the biopiracy and

protecis the indigenous and

2. _NBA. directly monttors . and
2pErvises the scieritific
research. on genetic modifi-
cation of crop plants.

3. Application.  for  Inteleciyal
Praperty. | RJ%}IES related 1o
geheti¢/biclogical  resources
cannot b made without the
approval of N3,

‘Which .of the statements given

above isja:e-::urrect_?
fa) 1 only

) 2 and 3 only
2} 1 and 3 enly
{d} 1,2 and 3

4. The National Greopn. Tribiutal Act,

2010 waz enacted in tongonence

with  which  of the following
‘provisionts of the Constitution of

dia?

1. Right to healihy envirenment,
constried as 2 part of Right to
life under Article 21 ‘l

2. Provision of 'g-rants for raiging
the level of adiministration in
the Scheduled Aveas for the
‘welfare: 6f Scheduled Tribes

under Article 275(1)

3. Powers and funcHons of Gram
Babh= ag mentioned  under
Article 243(a)

Select the’ correct answer using the
codes given below
{a}_ 1_.t:n13!{

& 2 and 3 omly

fc} 1 and 3 only

fdi 1,2 and 3

.=~ ~iraditiorial: genetic resources.
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‘B f National Water Mission is properly.

arked completely implemented, how
witl it impact the country?

b, Part of the water needs of

urthan 4drcéas wil be  met

through recycling’ of waste-

waier.

2. The water teguiremients of

coastal cities with inadequate
altemative sources of water
will be met by adopting
appropriate technslogics that
allow for the use of ocean
waler.

3. AR the rivers of Himalayan
origin will be Hnked to the
rivers of peninsular India.

4. The expenses incurred by
farmers. for digging bore-wells
and for mstalimg motors and
'water w;ll be compietely reim-
bursed, by the (overnment.

Sefect the correct answer using the.

codes given below :
fal 1 only

{b} 1 and 2 only

fc) & and 4 only

fdf 1,2, 3 and 4

6. Consider the following provisions

under the Directive Principles of
Btate Policy as ¢nshrined in the
Constitution of India :

1. Securingfor eitizens of ndia a
uniferm civil code

2. Organidng village Panchayats

P-DTG-M-DA/ 504,

Previous Pathshala

4

B 2 and 3

3. Premsting cottage industries in-
rural aregs

4. Securing for ali the workers
reasonable leisure and culturat
opportmities

Which of the ahove are the
Gandhian Prmc;p]es that  are
reflected ‘in the Directive Principles
of State Policy?

fy 1,2 and 4 only

& 2 and 3 enly
fol 1, 3 and 4 enly

7. Consider the following statements -

1.  Uhnion Temtr;:-rma &re. 0ot repre-
sented 'm the Rajya Sabha,

2. Itis within the purview. of the

' Chief EBlection Cormmissioner
ton adjudicate. the election
disputes.

3. Aceording to the Constitution

of India, ‘the Parliamant
vonsists of the Lok Sabha and
the Rajya .Sabljg anly.

‘Which' of the statements given
above: isfate torrést?

faj 1 only-

e 1and 3

fed} None
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8. With reference to.consumers * rights/

privileges under the. prev isions of
taw in Indid, which of the following
statements isfare correct?

1. Consumers are empowersd to
take samples for food testing.

2. When, a .consumer files a
compldaint i -amy <consumer
forurm, no fee s required o be
paid.

4 In case ofdeath of a consumer,
his/her legal heir can file a
complaint in  the consumer
forum on hisf her behali

Gelect the.correct answer using the

sodes given below °

fa}. 1 only

by 2 and 3 only

“fe) ¥ and 3 only

fd} 1, 2 and 3

9. Regarding the office of the'lok Sabha
Speaker, consider the {ollowing

statement ts .

1, He/She holds the office duting

the pleasure of the President.

5. ‘HefShe need not be a member
of the House .at the time of
his Jher electiol but has o
becorne a member of the House
withini six, moriths from the
date of his/her slection.

3. If hefshe intends to resign, the
letter of his/ber resignation
Has b he addressed to the
Deputy Speaker.

Which of the siatements given

above is/are correct?
fa} I and 2 only
w3 oniky

fo) 1,2 and 3

{d} None

) [
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10. Which ‘of the followlng are-included

in the original jurisdiction. of the
Supreme Court?

i, A  dispute Tbetwsen the
Government of Indis and one
of more States

2. A dispute regarding elections
fo either House of the
Parliament or that of
Lﬁ:gxsla‘ture of a State

3. A dlspute bﬁtwem the

Union Ternmry

4. A dispute between fwo ar more

States
Select the correct answer using the
codes given below !

{a} g and 2

fp 2 and 3

fcp 1 and 4
fd} 3 and 4

i1, Consider the following kinds of

Grganisms |

1. Bacteria

2. Fungi

3. Fiowering plants

Some species of which of the above.

Jinds of ‘organisms are -employed

ag biopesticides?
faj 1 oniy

fhi 2 and 3 only
fet 1 andd 3-omly
() 1,2 and 3
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12, Bicmass gagilication is donsidered to

be pie of the sustainable sulubions
to the power ofisis in Indig, In this

stateroents ls/are otrect?

1. Loconul shells,

used in blomass pasification.
2. The  rcombustible  gases
genérated  fram binfmass
gasification consist of hydragen
and carbon <dinkide only.
2. The
generated from

- combustible FR3eS
biomasa

Rl internal combristion

eRgines.
Seleat the correct answer using the
fa} 1 only
b} 2 and 3 only
fof 1 and 3 only
i 1, 7 and 3

13, What s the role of ultraviolet (UV]

radiation in the water purification

&yStems?

1, It inactivatesskills the harmful
-microorganiams in water,

2. It removes all the undesirable
gdours from the water.

3. I oguickens the sedimentation
of solid particles, remaves
turbidity and ‘improves the
clarity of water.

‘Which of the statemenis given
fai 1 only

bl 2 and 3 only

o 1 and 3 only

fdi 1, 2 and 3

groundnat
shells and rice husk can be

i. It s 8  two-dirmensional
matedial  and  has’  godd

electrical conductivity,

2. M is ome of the thinnest but
strongest miiterials tested so
far.

3. iz entivély made of silicon
and  has high  .optical
fransparency.

4. i can be used as ‘vonducting
glectrodes’ regwired for ifough

sereens, LODs end  organic
LETiz.

Which of the statements given
ghove dre oorrent?

i 1oand 2 aﬁij{

by 3 and 4 only

foi 1. % and 4 only

i 1,2, 3 and 4

A8, Lead, ingested or inhaled, s health

hazard. After the additien of lead to
petrol Nas beenn banned, what still

1. Bmeliing units
2. Pgns and pﬁﬂﬁls
3. Puints |

4. Hair oils and cosmetics

faf 1, 2 and '3 only
Ay 1 and 3 aniy:
fep 2 and 4 only
fdi 1,2, 3and 4
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16, With roférence o,

'stem  cells’,
fl"_&ﬁ{.l.iﬂl’ltf}*' in the, news, whirk
of the fﬂﬂfi_’?wing statements isfare
corfeat?

1. Btem ¢eils gan be derived from

mammals only,

2. Stem ¢ells eay he used for
sereening new drugs,

3. Stem cells ¢an Be used for
medical therapies.

Select the COTTEet answer using the

codes given bejow

(2} 17and 2 only

fbj -2 and 3 oniy

fef 3 only

(e} 1, 2 and 3

'Chinmﬂuﬂ'mcarhans, khown gg

ozone-deplating substances, ‘are.

used

1. in the -production of
fomms

2. in the production of tubeless

et

3. i cleaning certain electronip
components

[ ]
- Y Pressurizing
ferosgl cans

Which of the _statqﬁ:ents given
above isfare correct?

fab 1, 2 and 3 only

b} 4 only

& 1,3 and 4-oniy

fff 1,2, 3 dnd. 4

P-DBTO-M-DA?S0A

plastic.

agents  in

10

IB. A team of seientists ar

19,

Brookiiaven
National Laboratory including those
from ‘India created fhe heaviest:
anti-matter (anti-heljum muclens).
What  is/are  the frplication /
implications' of the. creation of
anti-matter?

Lot will make mineral prog-
PECtElg  and  gil. exploration
casier and cheaper.

2. It will help prebe the possibility
of the existence of stars arnd
galaxies made of anti-matter,

3 It Wil help understang. the
evolution of the universe,

Select the correct answer using the

codes giveri below -

(@ 1 only

2} 2 and 3 onty

fef 3 only

i 1,2 and 3

Which: of the -fn}}cwing. igfare cited

by the scienfisis as. evidence /

evidences:  for  the coritinued

expansion of universe?

1. Detection of microwaves in
Space

2. Observation of redshift phenom-
£10N0 in space

Maovement of astergidy in spage

Occurrence of
eXplosions . in space

Superndve

Select the correct answer using the
codes given below

fal- 1 and 2

b 2 ouly

fef 1,3 and 4

fd} None of the above can be cited
as evidence
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‘20, Electrically charged particles from

spave travelling at sperdy of several
handred km/see can severely harm
Hving beings i they reach the
surface of the Barth. What prevents
them frém reaching the surface of
the Earthz

fa} The Earth’s magnetic field

diverts them towards its poles

b} Ozone layer around the Earth.

reflects them back to outer
space

fe} Moisture in the upper layers
of atmosphére prevents them

from reaching the surface of

the Earth
fdj Nomne. of the statements faf, b}
and (o} given ahove is cotrect

21, With reference to the séientifie

progress of ancient Inidia, which of

the statements given below are

correct?

1. Different kimds. ¢f spécialized
surgical  instmaments were
ir common use by st
century. A,

2. Transplant of internal organs
i the human boedy had begun
by the beginning of 3rd
century AD.

3. The concept of sine of an angle
was known in'Sth-century A,

4. The conecept  of cyelie.
quadrilaterals was known in
7th century AD.

Select the cotrect answer using the

codes given bejow :

fal 1 and 2 only

b) 3 and 4 only

fc} 1,3 and 4 only

{d) 1,':2, 3: &Tld 4

'P-DTQ-M-TA /S04
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22, With reférence fo the history of

ancient India, which of the following
wias/were common  te both
Buddhism and Jainian?

i. Avoidance of - extremitises  of
penance and enjoyment

2. Indifferericé 1o the authority of
the Vedas

3.  Dental of efficacy of rituals

Select the correct atswer ‘ufing the

codes giveny below =

faj 1 only

& 2 and 3 only

) 1 and 3 only

i 1,2 and 3

43. Which of the loilowing can be said to:

be essentialty the parts of Inchisive
Governance’™”

l. Permitting the Nen-Banking
Fmaneial Companies to do
banking

2. Establishing effective Distriet

Planning Committees in alf the

districts
3. Inlredsing: the government
spending ‘on public health

4. Strengthening “the
Meal Scheme

Mid-day

Select the correct answer using the

codes given bhslow -

{al 1 and 2 only

,"bj 3-and 4 only
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24. ‘The Napara, the Dravida and fhe 26 With' reference tg National Ruraf
Vesara are the Health Mission, which. of the

following are the Jobs of 'ASHA' =
trained, community health wnrkm‘?

{a) three main raciai groups of the 1.

AccCompan women to the
Indian subcontinent panying

health facility for antengiai

care checkup
(b} “three miain lnguistic divisions 2. Using preghancy test kits for
ints which the langusges of sarly detection of pregnancy
India can be classified 3 P roviding  information  on

nutrition and Ammunization.
f} three main styles of Indian 5 4 Cenducting the delivery of
' temple arehitecture baby

Sefect the sorrect answer Using the.

codes givern helow :
{d} ~three. main musical Gharanas

prevalent in mdia fa} 1, Zand 3. anly
fb) 2 arid 4 only

{f¢] 1 and 3 oniy:
fdi 1,2, 3 and 4

25. The Cangress ministries rewigried _
in the severi provinces in 1939, 27, Which. of the follewing is/are
because the principal featureis] of the
Governmént of India Act, 15197

1o Introduction of dyarchy in the

{a} the Congress could naot form éxecutive government of the
ministries in the &ther four pravinces
provinces

. Introduction af separate
communial  clectorates  for

fb) emergence ofa Teft wing”in the Mustims
Congress made. the working' of 3. Devolutien  of  legiglative
the ministries impossibie authority by the centré to the
previnees
fa} there were widespread Seleet the correct answer using the
communal  disturbances. in codes given below :
their provinces {af 1 only
(bt 2 and 3 only
fd] None of the seatements {a}, {b} fe} 1 and 3 only
and {c} given above is correct fd}- 1, 2 and 2
P-DTG-M-DA/S0A 14
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28. During Indian freedore strugele; the 30. Wluch of the '*'ﬂiiﬂwmg Speeiil pﬂWﬁrS

National Social Confsrende  was
formed. What was the reason for its
formation?

(e} Different social réform groups
ar eorganizdtions of Bengal
region united to form a single
body “to discuss the issuds of
larger interest and to preparg
appropriate petitions / fepre-
sentations to the government

ihi Indian National Congress did
not want to inchude social
‘reformis’in itz deliberations and
decided to form a separate
body for siich @ purpose

(c) Behrarmji Malabari and. M, G. fei
Ranade decided  to bring.
together all the social reform
groups. of the country under
one organization
J1. How

fd} None of the statements {aj; {B)
and f;:} given above is correct. in
this ceniext

29. Which of the following parties were
-established by Dr. B. R. Ambedkar?

i. The Peasants and Worlers

Party of India

2. M India Schedizled Castes
¥Federation:

3. Thelndependerit Labour Party
Select the. correct answer using the
codes givon betow :

{4} 1 and 2 .only

(6} 2 and 3 only

fc) 1-and 3 only

(dt 1, 2 and 3

P-DTO-M-DA/SOA 16
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Sabha by the Censtitution of India?

(af

)

ic)

To changt: the f:xi'sting terﬁtr::rjf

name of a 5t atc

fo pass a resolution
empowerning the Parliament to
make laws in the State List and
1o create orie or more All India

Services

To amend the  election
procedure of the President
and to determine the pension.

of the President after his/her
retirement

.
To determine the functiens. of.
the Election Commission and
to determine ‘the number of

Election Coermunissioners

does the National Rural

Livelihood Mission sesk to improve
livelihood options of rural poor?

1.

By setting up a large number
of new _man_u[acturing
isdustries and agribusiness
centres in rural areas

By strengtheéninig  ‘self-help
groups’ and providing  skill
developrment

By supplying seeds, fertilizers,
diesel pump-sets and micro-
irrigation equipment free of
cOst 't farmers -

Select the eorrect answer using the
codes given- below -

fa)
(o}
fe}
=4

1 2nd 2 only

2 enly

i and 3 only
1, 2 and 3
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32. The Multi-dimensiorial Poverfy Index
developed by Oxford Poverty and.

Human Development Inftiative with
UNDF suppart. eevers which of the
following?

1. Deprvation of  education,
Health, assets and services al
housghold level

2. Putchasing power parity at
natienal ievel .

3. Extent of budger deficit and
GDP growth rate at national
leyed

Select the correct answer using the
codes given below »

fag} 1 .only
b 2 and 3 only
fo} 1 and 3 only

{d} 1,2 and 3

‘33, .Whii:_:h_mf the fdii;.-i:ri.viﬁg iag'ajrff' among
the rnoticeable fegtures of the

recommendations of .t_h'e Thirteerith
Finance Commission?

1. A desig_ﬂ for. the Goods and
Bervices Tax, and &
compensation packdge linked

' design

2, A design for the creation of

lakhs of jobs it the hext ten
years -in  consonance  with
India’s demographic dividend

18
Previous Pat?lshala

3. Devolution of a specified share.
of central taxes to local bodies.
a8 grants

Select the eorrect snswer Gsing the
codes given below :

fa} 1 -only
f6} 2 and 3 ondy
fo} 1 and 3 only

(@) 1,2 and 3

84. What isfare the recent policy

initiativeis] of Government of India
to  promote the growth  of
manufacturing sector?

1. _Setting up of  Mational
Investmeant and Manulacturing
Zones

‘2. Providing the benefit af ‘single

windeow clearance’

3. Es'tabﬁshing the Technology
Acquisition and Development
Fuind

Belect the correct answer using the
codes given below :

fal 1 only

{b) 2 and 3. only

{fe 1 and 3 only

(d} 1, 2 and 3
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35, Which of thg following are the

methods of Barliamentary control
over public finance in [ndia?

1. Placing  Annual
Statemnent before the Parlisment

2. Withdrawal of moneys from
Consolidated Fund of Indig
cnly.  after passing the
Appropriation Bill

4, A :pcriﬂdic_ or af least a
faid-yvedr review of programiie
atf the Gwemm&‘it again-st

E:-Lpex_ldd_:ur{-: I‘;l:-f_ a Parlismen-
tary Budget Gifice

5. Introducing Finance Bill in the
Paritament

.Lud.e.s given below -

fap 1, 2, 3 and 5 oaly

fbj I, 2 and 4 only

fef 3, 4 and 5 only

idr 1, 2, _3-,: 4 and 5

46, Mahatma CGandhi underfook fast

unte death in 1932, mainly because

fa} Round Table Conference fafled
to  satisfy Indian  political
BSpirations

fb) Congress and Musline League
had differences of opinion

fel - Ramsay Macdonald announced
the Cormmunal Award

{d] Nohe ef the statements fa), fb)
and {4 given above s correctin
this context

P-DT(-M-DA/5DA
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37, ‘With

reference to Eyotwari
Settlement; consider the following
gtaternents .

1. The rent was paid direetly
by the peassnts to the
Government,

2. The Governmenl gave Pattas to
the Ryots.

3. The lands were surveyed and

-assessed before being taxed.

Which of the statements given

above is/are cotrect?

fa) 1 only

B 1 and 2 only
frp 1, 2 and 3

fid] None

38. Consider the following specific
stapes of demographic transition
associated with: ECoNNmie

develaprrent o

1. Low birthrate with low death

fate

2. High birthrate with high death

Tate

3. High birthrate with low death

rate

‘Betert thﬁ: correct arder of the above
stages using the codes given below :

fa) 1,2, 3
B 2,01, 3
£l 2 81
& 8, 2.1
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In india;, in the overall Index of
Industrial Preduction, the Hidices
of Eight Core Industnes have a
combined weight of 37:90%. Which
ci the folowing are among those
Bight Core Industries?

1. Cement
2. TFertilizers

3. Natural gas

4. Refinery products
5, Textiles

Select the correct anewer using the
codes given below :

fel 1 and 5 only

fB) 2,3 and 4 only

e} 1,2, 3 and 4 only

[ 1,2, 3 4and 5

40, Which of the following provisions. of

the Censtiration of India have a
bearing on Educsation?

1. Directive Principles -of State
Policy

Rurat and Urbali Local Bodies
Fifth Schedule

Sixth Scheduls

Sevenith Schedule

Goa e

'Séltr:e't' the correet answer using the
codes. given below

fa) 1 and 2 only

(6) 3, 4-and 5 only

fcj 1, 2 and & only

il 1,2,3, 4 and 5

341, Government of India encourages the

cu!tivation of sea buckthmrn ' What

1. it helps in -mntm’iimg_ 86l
erosion and ‘in  preveriting
desertification.

P-IIFQ-M-DA/S50A.
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2. His 4 rich sovree ofbiodiegel.

3 B hasnueritonal value and is
well:adapted o live in  dold
areas of high altitkdes.

4. Itz timber iy of great
sommercial valua.

Which of the staterents given

abhove is/fare correct?

o) 1 only

B 2,3 and 4 only

f¢/f 1 and 3 only

{d} 1,2, 3 &and 4

42. Which of the following is the chief

characteristic of ‘mixed farming’?

)} ‘Cultivation of hoth cash crops
and food crops

{b}. Cultivation of two or more
crops in the same field

) Rearing of animals and
cultivation of cropg together

fdi None of the shove

43. A particular State in India has the

following charadteristics :

1. It is located on fthe =same
latitude which passes through
northemn, Rajasihan

2., It has over 80% of its area
under forest cover..

3. Ower 12%° of forest <cover
constitutes  Protected  Ares
Network i thils State,

Which one among the following

States  has  all the  above
characteristics?

fai Arunachal Pradesh

[b} ‘Assam.

¢} Himachal Pradesh
{dj Uttarakhand
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44, Consider the following créps of “Which. of the statements given

India @ above isfare correct?
d. Cowpea (&} 1 only

3, Green gram B} 2 only

3, Pigeon pea fei Both 1 and 2

) Neither 1
Whivh of the above is/fare used as {d} Neither 1 nor 2

pulse, fodder and green manure? o o
fo} 1 and 2 only 47. Consider the following crops of
: T ' India ;

fB) 2 only

fc} 1 and 3 enly

fd} 1, 2 and 3

1. Groundnut

@, Sesamam.

_ 3. Pearl millet

45. Consider the following factors

Which of the above. is/are predomi-
nenitly rainfed crop/erops?

i.. Rotation of the Earth

2. Air pressure and wingd @ 1 and 2 only

fb) 2 apd 3 only
{fc} -3 only
@ 1,2 and '3

3. Density of poean water
4. Revolution of the Earth

Which of the above factors

iRfluence the ovsan currents?
{fei 1 and 2 -only

bl 1,2 and 3

fef 1 and 4 1,
fdf 2,3 and &

48. When you tiavel in Himalayas, you
will see the following :

Deep gorges

2. U-turn river courses
46, With reference to the wetlands of 3. Parallel meuntain ranpges
India,  consider the follpwing 4, Steep pradients causing tand-
statements : -
o _ shiding
1. The ooLntry's iotal

Whic_:h. of the above can be said to
be- the evidences for Himalayas
being young fold mountaing?

geographical® area under the
category  of wetlands s
recorded more in. Gjarat as

compared to other States.

area of coastal wetlands is
larger than that of inland
wetiands.

P-DTQ-M-DA JS0A -
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fa} 1 and 2 only
fB) 1,2 and. 4 only
ict 3 and 4 vnly
(d 1,2, 3 and 4
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Wa‘th the increase in height frem the
Earth’s surface, because

1.

the atmosphere can be heated
npwards only from the Barth’s
surface:

there is more micisture in tho

upper atmosphere

the .air is less dense in the
upper atmosphere

Select the correct answer wsing the
codes given below :

e
)
el

{dy

50, The

Increasing,

1 only

2 and 3 only
1 and 3 onty
1, 2 and 3

aoidification.  of  ocedns. is
Why 18 this

phenprmerion a cause of cancern?

1.

Which of the statements given.

The growth and survival of
calearegus. ph}FtGpIanktnn will

’i‘_he growth and supvival of

coral reefs will be adversely

affected,
The survival of =ome animals
that have phytoplanktonic
larvae  will he  adversely
affected.
The cloud geeding and

formation of clouds wiill bhe

adversely affected.

above is/are correct?

fa)
b}
fof
{d}

1, 2 and 3 only

2 only
T and 3 only
1, 2, 3 and- 4

P-DTO-M-DASS0A
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51. In India, other than ensuring that
public funds are used efficiently
and for iftended. purpose, what is
the bnportance of the office of the
Compirsiler and Auditor General

[CAGH?
I. CAG exercises  exchequer
cbntrt}l ot behalf of the

ﬂf Indm _decl_ams_ n_atwna[
emergencyy/financial emergency.

CAG re::mr*s on the &xecution

Information from CAG reports

can be used- by investigating

agencies o press. charges
against those who  have
violated  the  law  while

managmg public finances,

While  dealing with  the
sudit  and  agcounting  of
gavernimrent companies, -CAG

has certain judicial. powers for

prosecuting those who. violate

the law.

Which. of the statémients _given
abave igfare correct?
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32. “FThe endeavour of ‘Janani Surakshe

Yojana' Programipié.is.

i, ta promote: dnshtutional
deliveries

2. to provide monetary assistance
to the mother to meet the cost
of delivery

3.  to provide for wage loss due to
‘Ppreéghanty and confinement

Whichi of ‘the statements gven
abhave isfare. correct?

{@ 1 and 2 eniy
() 2 only
fcl .3 only-

idl 1, 2.and 3

-83. The Prime Minister of India, at the

tims. of his/her appointment

fa} need not necessdarily be a
messbier of one of the Houses of
the Parflamgent but  must
become 2 member of one of the
Houses within six months

fbf need nwpt necesiarily be &
member of one of the Houges of
the  Parliament ‘buat  miust
become a member of the Lok
Sabha within. six months

¢} must be a member of one of
the Houses of the Parliament

fd} must be = member of the Lok
Sabha

P-DTQ-M-DA/50A
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54: With referenve to the Delithitaiion

staiements °

1. The orders of the Delimitation
Commission eanmot be
challenged in a Court of Law.

2, When the orders of the

Delimitation Commission are
laid Before the: Lok Sabha or
State  Legislative  Assembly,
they cannot  sffect -any
maodifications in the orders.

Whiti‘; of the slatements given
above isfare correct?

faf 1 only

{hj 2 enly

fe/ Both I and 2

fj Neither ] nor 2

55. Consider the following :

I. Hotels and restaurants

2. Motor transport undertakings
3. Newspaper establishmients

4. Private medical mstitutions

Insurance Scheme?
faf 1, 2 and 3-only
thi- 4 only

fg 1, 3 and 4 oaly
() 1,2, 3and 4
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56. According: .te -the: Censtitution of

india, it is the duty of the President
of India tc cause to be Iald before
the ‘r‘*arlzamt*nt which: of the

following?

‘1. The Recoiummenddtions of the
Uniogn Finance Commission

2. The Report of the Public
Accounty Committes

3. The Report of the Comptroller
and Auditor General

4. The 'Rep}::-’r’t. of the Tfﬂ'afienai
Commission.  for Scheduled
Castes

Belect the porrect answer using the
codes given below

fa) 1 anly

) 2 and 4 onty

f3 1,3 and 4 only

i 1,2, 3 and 4

- A deadlock belween the Lok Sabha
and the Rajya Sgbha cells for-a
joint  sitting of the Parliament
during the passage of

1. Ordinary Legisldation
2. Money BEill

3. Constitution Amendment. Bill

P-DTQ-M-DA/S0A

3Q.

Belect the 'correct answer using the
codes given below :

E’a} i ﬂn"ly
et 1 and 3 anly
{di ‘1, Tand 3

58. How do District Rural Development

Agencies.  (DRIDAS) help in the
reduction-of rural poverty in India?

1. DRDAs act as Panchayati Raj
Institutions in certain specified
bacloward regions of the
COURtry,

2.  DRDAsundertsle area-specific

scientific study of the causes
af pﬂwzrty and malnhtritjon

IEABLITCS.

3.. DRDAs secure inter-sectoral
and inter-departmental coordi-
nation and cooperation for
effsctive ‘implementation of
anti-poverty programmes,

4. ‘DRDAs watch over and ensure
effective  utilization of the
tunds inténded for anti-poverty
programnes.

‘Which of the statenénts - giverny

ahove isfare correct?
fal 1, 2 and 3 only
b}, 3 and 4 oniy

{cj 4 only
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59, Which of the following is/are among

the Fundamental Duties of ecitizens
laid dowT; in the  Indizg
Corystitluiany

1. To preserve the rich heritage of
our composite cizlture

2. To protect the wéaker sections
fram soeial injustice

3. To .develop the scientific
temper and spirit of inqury

4. To strive towatrds excellenée in
all spheres of individual and
collective activity

Beléct the correct answer lsing the
-codes given below -

fai 1 and E::.Gﬂ_{}‘

&) 2 only

f¢i 1, 3 and 4 only

{4 1,2, 3 and 4

60. What is the provisien to safeguard

the aittomomy of the Supreme Court
of india?

W‘hﬂe appointing the Eupremﬁ

Indm has’ to consult thﬂ Chief
Justice of Indza

3. % The Sifprerae’ Coiirt Judpes
can be removed by the Chief
Justice of India only.

3. The salaries of the Judges are
L]'I:M‘gﬂd un the Consolidated
Fund of India o which the
legislature does. not heve to
vote,

P-DTG-M-DA/BOA
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4. All eppointments of officers
and. staffs of the Supreme
Court: of India are made by
the Government ortly after
consulting the Chief -Justice
of kidia,

Which. of the statements given
above ig/sre correct?

fz} 1 and 3 only

B) 3 ahd 4 only

o) 4 only

fd? 1,2, 3 and 4

61. To meet fts rapidly growing energy

demand, same oping’ that India
should. pursue research  and
development on thorium as the
futre fuel of riuctear energy. n this
context, what advantsge  does
thorinim hold over drdanium?

1. Thorium is far more abundant
in nature than uranium,

2. OUn the basis of per unit inass
of mined ‘mincral, thorium
can  generate more  energy
compared to natural uranivm.

3. Thorium prodiices less
harmful waste compared to
uranium., o

Which of the statements given
above is/fare correct?

() 1 orly

i 2 =nd 3 only

) 1 and 3 enly.

(dj 1,2 and 3
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62. The increasinip amount of carbon

dioxide in the air js stowly raising

the temperature of the-atmosphere;

because it absorbs

{d} the water vapour of the air and
retains itz heat

{b} the uliraviolet part of the solar
radiation

{e} all the solar radiations

) the infrared part of the solar
radiation

€3, Which one of the fallowing sets of

elements was primarily responsible
for the erigin of life on the Earth?

faj Hydrogen, Oxygen, Sodium
{bj. Carbon, Hydrogen, ._Nitrogen
fef Oxygen, Calcidrn, Phosphoriis
;"&j_ Carbon, Hydrogen, Potazsium

ra_slstanca to the mtrodm:tmn pf
Bt brinial in India?

. Bt brinjal has been created by
inserting a gene from a soil
fungus into -its genome,

2. The seeds of Bt brinjal are
vterminator seeds and therefore,
the farmers have to buy the
seeds before every season from
the seed companies.

3. There is an apprehension that
the consumption of Bt brinjal
may have adverse impact on
health.

4. There is some coneemn that 1he
imtroduction of Bt brinjal, roay
have. adverse effect on the

biodiversity.

F-DTO-M-DA7S0A
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Seleet the correct answer uging the
codes given below

fo} 1,2 and 3 only

fbj -2 ard 3 only
fo! 3 and 4 only

fdj 1,2, 3 and 4

65, Other than resistarice to pests, what

are. the gmspﬁ{:’ts” for 'whli:h

heen created?

1. To enable them to withstand.
drought.

2. Teo increase the nutritive value
of the produce

4. T& incréase their shelf life

Select the cortedt answer nsing the
codes given below -

fa}- 1 and 2 only
B} 3 and 4 enly
fei 1,2 and 4 only

il 1,2, 3 and 4
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66, Consider the following stutements

The most effective  contribution
made by Dadabhai Naocroji to
the c¢ause of Indian  Natiena)
Movement was that he

1, exposed. the economic
exploitation of India by the
British

2. interpreted the ancient Indian
texts  and  restored the
self-confidence of Indians

3. stregsed the. need for.

eradication of all the social
evils before anything else

Which of the statements given
above m,f aTe Correct?

faj 1 only

{bj 2 and 3 only
{¢l° 1and 3 only
fdl 2 and 3

67. With refererice to Dhrupad, one of

the majof fraditions of India that

hasibeenn kept alive for centuries;

whith of the followiig statements
are correct?

I. Dhrupad  eriginated and
developed  in the.  Rajput
kingdoms during the Mughal
period.

Z. Dhrupa_d is primarily E

3. Dhiunad Alap uses Sanskrit
zyliables from Mantras.

Select the cnrrer;t answer using

fir} 1 and 2 only
{bj 2 and 3 only
e} 1, 7 and 3

{d} None of the above is correct

68. How do you. distinguish between

Kuchipudi and Bharatanatyam
darces?

1. Déncers occasionally speaking
dialogues is  found  in
Kuehipudi dance but not in
Bharatanatyam..

2. Danr.‘:mg on the brass p]ate hy

is a. fedture of B_haratanatyam
bur Kuchipudi dance does
not have such a form  of
maverents,

Which of the statciients given
sbove is/are correct?

fa) 1 only

fBi 2 only

fe} Both 1 and 2

{d} Neither ] nor 2
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69, With reference 1ip  the religious

history of medieval Indiz, the Sufi
mystics  were. known (¢ pursug
which: of the following practices?

1. Meditstion and conitrel  of

bireath

2. Severe ascelic exércises in a
ionely place

3. Recitation of holy songs to
arpuse a state of costasy in
their adience.

Select the correct answer using the

codes given below ;

fal 1 and 2 onlby

{b) 2 and 3 only

fo} 3 only-

fd) 1,2 and 3

70, The Rowlatt-Act aimed at

{fa) ‘compulsery -economic support
to war efforts

{bj imprisonment without trial and
sutnmary procedures for trial

fe} suppression ©f the Khilafat

- Movement

fi} impositidn of restrictions ¢én

freedom of the press

71. The Lahore Session of the Indian

Nationsl, Congress {1999) ‘is very
important in history, because

1. the Congress. ‘passed a
resolution: demanding cormplete
indepéndernice

2, the rift between the extremisis
anrd moderates was resolved in
that Seszion

3 & resolution  was  passed
rejecting the two-nation theory
i that Session

38
Previous Pathshala

Which of the stafements pgiven
above isfare correct?

fa) 1 only
b 2 and '3
fe} 1oand 3

fd] MNene of the above.

72. Lord Buddha's image is sornetimes

shown with the hand gesture
celled ‘Bhumisparsha Mudra’ It
symbolizes

fa} Buddha’s calling of the Earth
to watch over MEra and to
prevent. Mara from disturbing
his ‘meditation

{5 Buddha’s calling of the Earth

 to witness, his purity and

chastity despite the tempta-
tions of Mara

fz} Buddha's reminder to his

from the FEarth dnd finally
diszolve into the Barth, and

.....

fd} Both the statements (o) and b
are correct in thiz context

73. The reiigiﬁn of early Vedic Aryans

was primarily of

fa} Bhaki

{b] image worship and Yajnas

{gj: worship: of nature, and Yajnas

fd} worship of nature and Bhakti
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T4. Which of the loliowing statements

ifare correct regarding Brahmo
Samai?
E. it opnosed idolatry.

2. It denied the need for a priestly

eiass  for  interpreting  the

religious texts,

3. It popularized the doctrihe fhat
the Vedas are.infallible,

Select the correct answer using the
cades given below @

faj 1 only

f5) 1 and 2 only
fe)] 3 only

(d} 1, 2 and 3

75. The Reserve Bank of India (RBD acts

ds A bankers’ banl. 'Thi:s wouiid

imply which of the following?

1. U_thﬁf_ baﬂk&_ ':_rfetain their
depisits with the RBIL

2. The RS lends funds to the
cominarcial banks in- limes of
need,

3. The REI advists the commercial
banks on monetary matters.

codes  giver below :

faj 2 and 3 only

(b} 1 and 2 only

fol 1 and 3 c-_rﬂg,_f

() 1,2 and 3
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76. Under

which of the fc::-llm&‘ir;g

circrunstances. may ‘capital gaing’

arise?

I, When there 1S an increass in
the azles of .a product

42, When there s a -natural
increase in the value of the
property owned

3. When you purchase a painting
and there 5 .a growth im its
populasity

Select the correct answer using the

codes given below o

fer) 1 only

(b} 2 and 3 only

o] 2 only

(d) 1,2 and 3

77. Which of the following measures

would result in an increase in the

money supply in the economy?

I. Purchasge of  government
securities from the public by
the Centzal Bank

2. Deposit of currency in
commercial  banks by the
publie

3. Borrowing by the goverrunent
from the Central Bank

4. Salé of government securities
to the public by the Central
Bailr

Select the carrect answer Using the

codes given below -

fe} 1 only
fo} 2 and 4 only
fej 1 and 3

fd} 2,3 and 4
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78. Which of the following would inchde

Foreign Direct investiment in India?

I~ Subsidiaries of foreign
-eompanies in India

2. Majority loreign equity helding
iri Intdian companies.

3. Companies exclusively finanted
by foreign companies

4.  Portiolio investinent

i -

Select the correct answer using the

codes. given below

@"d}f 1,2, 3 and 4

(bf 2 and 4 only

fe) ) and 3 only

{1, 2 end 3 orily

79. Consider the following stafements -

The price of any currency in
international market is decided by
the

1. World Bank

2. demand for guods/services
provided by the country
coricerned

3. stability of the governsrént of
the concerned courntry

4, economic potential of the
Ccountry in guestion

Which of the statements given

above are correct?

faj 1, 2,3 and 4

b} 2 and 3 enly

f&f 3 and 4 only

{d) 1 and 4 only

P-DTO-M-DAZS0A

£0. The basic aim of Lead Bank Scheme
g that

{a} big banks should try to open
gffices in each district

b} -there shouid be atiff
-competition ameong the various
nationalized hanls

{c} individual banks should adopt
particular distriets. for inten-
sive. developmient

fd} all the banks should make

intensive efforts to mobilize
deposits

81, Consider the following ;-

1. Assessmernt of land fevehue on
the basis of nature of the soil

2. Use df mobile cannons in
warfare

3. Cultivation of tohaces and red
chillies

Which of the above was/were
introduged iInto India. by the
English?

fat 1 only

o 1 and 2

fc) 2 and 3

#d] Noné
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82, With relererice to the guikds {Shrend)

of ancient indis that played a very
impertant role in the country's
eeonomy, which of ‘the following
statements is/are correct?

the cemral duthﬂl‘lt}' of the
State and the king was the
chief administrative authority
on -them.

-2:  The wages, rules of work,
standards -and prices  were
fized by the guild,

3. The guild had judicial powers
gver its own members,

Select the correct answer using the
-wodes given helow

(@} 1 and.2 only
) 3 only
fc} 2 and. 3 only

{dr 1, 2 and 3.

83. The distribution of powers between

the Centre andithe Stites in the
Indian Corstitution is'based on-the
scheme providediein thess

fa} Morley-Minto. Reforins, 1909
fo) Montagu-Chelmsford Act; 1919

fej Government of India:Act, 1935

{d) Indian Independence Act, 1947

P-DTQ-M-DA/S0A

A4
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Wh_}! dc}es l_ndsa 1mpor’r _mlﬂmns af

tennes of coal?

1. It is the policy.of India te save
its own coal reserves for future,

grid hriport it from  other
gountries for-the present use,

2. Most of the power ﬁ}énts in

India are cogl-based and they
are not able to get sufficient
supphies of coal from within the

country.

3. Steel companies need ldrpe
quantity -of coking-ecoal which
H#g to be imporied.

Which of the staternents piven
above is/are correct?

{al i only

{b} 2 and 3 only

f¢/ 1 and 3 only

(i 1,2 and. 3

85. A person.stood alone-in a desertona,

dark night and wanted to reach his
village which Was sitnated 5 km
east of the point where he was
standing. He had no instrumenis to
find the direction but he located the
pelestar. The most convenient way

now to reach his village is to walk in

the

i} direction facing the polestat

{b} direction
polestar

apposite  te  the

{c} direction keeping the polestar
te. his 18ft

{d) direction keseping the polester
te his right
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86. Recertly; there has beer a concern
‘over'the: short supply of a groap of

tlements called ‘rare earth metals’,
'Wh}"?

1. China, whick is the largest

producer of theSe elements,
has imposed sorme restrictions

en their export.

2. i0Other than China, Avgtralia,
Canada and  Chile, these
elements are not. found in any
Bontry.

3. Rare earth metals are essentisl
for the manufdctire of various
kinds- of efectromic items and
‘there is u growing demand for
these elements.

Which of the statemients given
above isfare correct?

fa 1 enly

(b} 2 and 3 enly.

f¢} 1 and 3 only

{di 1, 2.and 3

BT. Consider the fqllowing protecied

Aress

1. Bandipur

2. .Bhitarkanika
3. Manas

4.  Sunderbans

‘Which of the above are declared
Tiger Reserves?

f'aj 1 and 2 only
bl 1, 3 and 4 only
fej 2,3 und 4 orify
) 1,2 3 and-4

88. Consider the foliowing statements :

1, The duration of the DT B0
decreases from southern ndia
to narthern fndia.

2. The amount of afrinal :‘Ei.infall
in the northern plains of India
decreases from 2ast {0 west,

Which of ‘the staternents given
above igfare correct?

fa) 1 anly

b} 2 anly

fei Both 1 and 2

fdl Neither 1 nor 2

cha:ac:tenstlc chmate ﬂf the
Tropical Savannak Region?

{aj Rainfall tﬁmughm_.lt fhe year
fof Rainifall iri vinter cnly
fe}  Arextremely short dry:season

{d] A definite dry and wet season

90, In which one among the following

categories. of protecied. areas in
Inddia are local people notallowed fo
collect and use the biomass?

fa} Biosphere Reserves
b} National Parké

fe) Wetlands  declared  under
Ramsgar Convention

(dj Wildiife Sanctuaries

A6
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. Consider the following %inds of
organisms. @

. Bat
2. Bee
3 Bird

Which af the above
pollinating agent/agents?

isfare

faj 1 and 2 enly
b 2 only

fer 1 and 3 anly
fdl 1; 2 and 3

92. Which one of the following groups of

animals baléngs 10 tha: tategory of
endangered species?

faj Great Indian Bustard, Musk
Deer, Red Panda and Asiatic
Wild Asg

th} Kashmir Stag, Cheetal, Blue
Bull and Great Indian Bustard

{of Snow Leopard, Swamp Deer,
Rhesus Monkey and Saras
(Crare}

{rii Lion-tailed Macague, Blue
Bull, Hanuman Langur and
Cheetal

93. Consider the following statements ; -

If there were no phensmencn of
capillarity

Loooit would be difficult to use a
rerosene lamp

2. ‘one would not be able to use a
straw to consume a soft drink.

3. the blotting paper would fail to
function

4, the big trees that we see
around would riot- have grown
o1t the Earth

43

94, The
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Whick of the statements given
above are correct?

{af 1,2 and 3 only
) 1,3 and 4 only
fc} 2 and 4 enly

fdf 1, 2, 3 and 4

Milennium Ecosystem
Asséssment describes the following
major -categeries of  ecosystern
services—provisioning, supporting,
regulating, preserving and cultural,
Which one of the following is
SUpporting service?

{a} Produetion of food and water
(bj Control of climate and disease

¢} Nutrient
pollinatiofn.

ceycling and  crop

{d} Maintenance of diversity

98. What is the difference hetween the.

antelopes Oryx and Ch:ru?

{af Oryx is adapted te Hve in.hot

and arld aress whereas Chirn
is adapted to live in steppes
and -semi-desert areas of cold
high mcouniaing

b Oryx is poached for ity antlers
thmaa Chiru is poached for

foj Oryx exists in western India
only whereas Chira exists in.
northreast India only

fd} None of the statements [af, (B
and f¢j given above is correct:
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96, Which of the following can'be thrests

to the biodiversity of & geographicel
area?

1 Glabal warining
2. Fragmenfation of habitat
3. Invasion of zlien species

4. - Promotion of vegetariardism
Select the correct answer using the
codeg given bBelow :

fal 1, 2 and 3 only

i 2 and 3 only

fel 1 and 4 only

fd) 1,2, 3 and 4

97. Considei the following :

1. Bilack-necked crane
2. Cheetah

3. Flying squirrel

4., Spow lecpard

Which of the above -are naturally
found in India?

(@ 1,2 and 3 only

(b 1, 3 and 4 oniy

fj 2 and 4 only

fdi 1,2 3 and4

98. Congider the following agrieuliural

practices
1. Contour bunding
2. Relay cropping

3. Zéro tillage

Previous Pathshala
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In. the context of global elimate
change, which of the shove
helps/help  in carbon  seques-
tration/storage in the soilp

foi 1 oand 2 only
B} -3 only

fe) i, 2and 3
{d} MNene of them

99. What world happen if phytoplankton

of an ocean is completely destroyed
for soine Teason?

i, The oceant as a carbon sink

would be adversely affected.

3. The density of scean water
would drastically decrease.

Select the correct answer using the

-codes given below :

fa) 1 and 2 only
#) Tonly
{cj 3 only

fd) 1, 2 and 3

common  in  Indian countryside.

BOWME Years ago - are rarely seen

nowadays. Tlds is attributed to

fa)  the destructién of their nesting
sites by new invasive species

{bj a drug used hy cattle owners
for treating their diseased
cattle

:EﬁJ scarcity of food available to
ther

{d) a widespread, persistent and
fatal disease ainohg them
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